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Question One (6-Points) Morh 102 — Maje" OYIE SG]U s — 05

Use the definition of the definite integral with x ; as the right end- point of each subinterval to find

the area under the curve y =71 (x ) =X 3 over the interval [0,3]
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Question Two (6-Points)
Answer the following two parts (3-Points each)
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a. Express Z 5 in sigma notation with k =1 as a lower limit
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b. Express the following sum in closed form: Z 1
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Question Three (12-Points) M aj L Ma¥h oo lu 3

X

a. Find [ \ (3) given that f (x ) zi I(El‘ - 3f \‘ (t))dt (3 -Points)
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b. Consider the function f/ (x ) = —5; [1,4] , then:(3+2=5-Points)
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I. Find x in the interval that satisfies the Mean Value Theorem for Integrals.
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[I. Find the average value of the function over the interval.
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c. Answer the following as TRUE or FALSE :(4 —Points)
' - § False. O
[. If f isanodd functionon [—7, 7], then J‘ cos(f (x))dx =0. ;LA A
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Question Four (4+5+5+4=18-Points)

Evaluate the following integrals:
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, ¥ (1)=5

a. Solve the initial value problem : v = :
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b. Sketch the graph and find the area enclosed by the curves :
y=2x,x+y =9 y=x -1
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